
TPLB-ARA3 - Twin Parallel Luminaire Bracket
MOUNTING BRACKETS ACCESSORY

Spaulding Lighting
701 Millennium Blvd
Greenville, SC 29607

Catalog Number:
TPLB-ARA3-XX
Instruction Sheet: 93066045

Mounting Notes:
Position twin bracket to pole with cover side up.
Using supplied hardware: (2) 1/2-13 bolts, (4) split
washers, (4) flat washers, and (2) nuts, secure
bracket to pole and bring wiring into bracket.
Position fixtures to each side of the bracket and
secure with hardware supplied with fixture.
With wiring complete to fixture, secure (2) end
plates to each end of bracket with (2) 10-24 screws.
Secure gasket and cover to top opening of bracket
with (2) 10-24 screws.

1.
2.

3.

4.

5.

Shipping Package Contents:
Twin Bracket (1)
End Plate (2)
1/2-13 Bolt (2)
1/2 Split Washer (4)
1/2 Flat Washer (4)
Gasket (1)
Cover (1)
1/2-13 Nut (2)
10-24 Screw (4)

Material: Steel
Finish: Powder Paint
Weight: 41 lbs

EPA: 1.8 ft²

GASKET

SIDE COVER (2)

Technical Support: (864) 678-1000
Fax: (864) 898-1065

www.spauldinglighting.com

#2 DRILL PATTERN
FIXTURE AND POLE

Compatible with: ARA3

1/2 NUT (2)

4.00

36

6

.88

3.50

TOP COVER

POLE
(SHOWN AS REFERENCE)

1/2 SPLIT WASHER 4)

1/2 FLAT WASHER (4)

1/2-13 Bolt (2)

BRACKETS (2)
(FOR ARA3 ONLY)

(2) 10-24 SCREW


